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Reactions AR

HYDROGEN AND OXYGEN
MOLECULES COMBINE
Use with BrishLab PSO3A TO FORM WATER.

Done By: StarMaterials Coach
Atoms combine in a new way to make something new.
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2- How are 3- List to needed to

a shorthand form? chemical product.

TABLE 1.2 Some Commen Elements and Their Symbols

a
Carbon Cu (from cupriim) m 0
Fluorine Fe (from ferrum) “ + - +
Hydrogen Pb (from plumbum)
Todine Hg (from hydrargyrum) m R

Nitrogen Potassium K (from kalium)
Oxygen Silver Ag (from argentun)
Phosphorus Sodium Na (from natrium)
Sulfur i Tin Sn (from stanmum)

L

One mathane Two axygen Cne carbon T watr
-
molacule molecules dioxide molecule molecules
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4H 20 aH

Elements are labeled with a one, two or three letter We can predict a reaction by counting
symbol - the first letter always capitalized. the atoms and balancing a chemical equation.
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4- When compounds ways that chemists can Page 2

, what happens Para 8,9,10

g & 9

0. 0g @, Do .
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CsHg + 50, 3C0;, + 4H,0 + Heat

— and

Propane Oxygen Carbon Water light
gas dioxide

?

New chemical bonds are formed Chemists can draw a picture, write a word equation or
after a chemical reaction. write in chemical “shorthand” a chemical reaction
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is the of Page 2 7- In a chemical reaction, how does the

Page 2
and why is this p Para 11

Para 12

4 hydrogen atoms 4 hydrogen atoms
VAL

+ 2 oxygen atoms + 2 oxygen atoms
In any chemical reaction, all the material

at the beginning is there after the reaction. The n'umb.er' of atoms at the beginning of a
Nothing is created nor destroyed. Imoee Link reaction is equal to the same number after.
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8- In balancing chemical equations, what Page 2 than Page 2
e used ke . . .
i arie UseCNgMg Para 13 in a chemical equation? Para 13
sure that the atoms are all ?

One methane | Two oxygen , Onecarbon Two water

~ ~ molecule molecules dioxide molecule i molecules
H=4

> O, - H,0

X 0 ) \0

C=1 0 ' ' ( i \
: 20,
(40

2C
(41 |)
You balance equations by knowing the subscripts

. Subscripts are the number of atoms in a molecule.
(“umber of atoms in a mOIecme) and Coefficients are the number of molecules in a reaction.
coefficients (the number of molecules).
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Page 2 Wrap It Up: - Draw and color a
correctly? Para 16

GHEMICAL *KEACTIONS *

L

ERMIC. - (EXOSKELETON)

B o v roe 2H,+0, > 2H.,0
.p;iﬂ'.\ -, @ L & Z

! l

4H, 20 = 4H 20

Page 2
Para 16

Exo - means energy going out - or exiting.
Endo is the other way.
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